

Lead • Partner • Innovate • Excel

May 11, 2023

To: Vendors for Welding Supplies IFB 23-03-005

RE: Bid Results

The following bid analysis sheets show the prices that were bid for Welding Supplies for Madison-Oneida BOCES and its participating districts. This bid was awarded on a line-by-line basis as highlighted in green. Items highlighted in red have been disqualified.

This bid was approved by the Madison-Oneida BOCES Board of Education at their monthly meeting on May 10, 2023.

This letter does not constitute an order. Receipt of a valid school district purchase order will be notification of an order.

Thank you for your continued support and participation in our bidding program.

Sincerely,

Madison-Oneida BOCES Cooperative Bidding Service

Chui Spratie

## Bids Were Received From The Following Vendors For Welding Supplies IFB 23-03-005:

## Paxton/Patterson, LLC

Attention: Kevin Lohr 4141 W. 126<sup>th</sup> Street Alsip, IL 60803 Phone: 800-323-8484 Fax: 708-594-1907

Email: <a href="mailto:sales@paxpat.com">sales@paxpat.com</a>

Website: www.paxtonpatterson.com

Details: Please Reference Paxton Patterson Bid #B768587 /Madison-Oneida BOCES IFB 23-03-005 on

Purchase Order

## Welding Supplies IFB 23-03-005 Opened March 14, 2023 at 3:00 PM Summary Contract Effective July 1, 2023 - June 30, 2024

Item#	Item Specification	Reference Package	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit of Measure	Unit	Unit Price	Vendor
56020	Box, Soap Stone, Flat	10/Box	2	Nasco	442386	dozen	\$3.20	Each	12	\$0.2667	Paxton/Patterson LLC
56021	Brush, Hand, Stainless Steel, Wire Brushes	Each	20	Weiler	422298	each	\$4.41	Each	1	\$4.4100	Paxton/Patterson LLC
56026	C-Clamp, Jaw 0 - 6-1/16", Throat 4-1/8"	Each	7	Wilton	540047	each	\$93.57	Each	1	\$93.5700	Paxton/Patterson LLC
56028	Clamp, Ground, Steel	Each	5	Lenco	242396	each	\$23.43	Each	1	\$23.4300	Paxton/Patterson LLC
56029	Cleaner, Standard Tip	Each	30	Wypo	242402	each	\$2.70	Each	1	\$2.7000	Paxton/Patterson LLC
56042	Earplug, Corded, Laser Lite	100 Pair/Box	4	SAS Safety	340060	bx/100	\$26.57	Each	100	\$0.2657	Paxton/Patterson LLC
56058	Gloves, Welding	Pair	50	Steiner	243068	pair	\$9.08	Pair	1	\$9.0800	Paxton/Patterson LLC
56059	Grinder, Angle, 5", No Load Speed, 10,000 RPM	Each	3	Bosch	160558	each	\$186.56	Each	1	\$186.5600	Paxton/Patterson LLC
56060	Grip, Vise, 9R Locking Welding Clamp, Deep Throated, U-Shaped Jaw, Size 9", Jaw Width 2- 3/4", Throat Depth 1-5/8"	Each	8	Irwin	242596	each	\$21.46	Each	1	\$21.4600	Paxton/Patterson LLC
56061	Grip, Vise, C-Clamps with Swivel Pads, 11SP/Size 11", Jaw 0 - 4", Throat 2-5/8"	Each	4	Irwin	108366	each	\$25.90	Each	1	\$25.9000	Paxton/Patterson LLC
	Grip, Vise, C-Clamps with Swivel Pads, 6SP/Size 6", Jaw 0 - 2-1/8", Throat 1-1/2"	Each	3	Irwin	108364	each	\$15.57	Each	1	\$15.5700	Paxton/Patterson LLC
56063	Grip, Vise, Sheet Metal Tool, 8R Locking Sheet, Size 8", Jaw Width 3-1/8", Throat Depth 1-3/4"	Each	3	Irwin	442124	each	\$17.89	Each	1	\$17.8900	Paxton/Patterson LLC
56075	Hammer, Slag, Atlas "A" with Brush	Each	25	Lenco	242436	each	\$16.80	Each	1	\$16.8000	Paxton/Patterson LLC
56077	Helmet, Shadow	Each	20	Lincoln	240075	each	\$27.09	Each	1	\$27.0900	Paxton/Patterson LLC
56078	Holder, Electrode, Heavy Duty, 300 Amp	Each	5	Lenco	242390	each	\$33.16	Each	1	\$33.1600	Paxton/Patterson LLC
56120	Measure, Tape, 1" x 25'	Each	15	Stanley	109256	each	\$16.81	Each	1	\$16.8100	Paxton/Patterson LLC
56131	Paint, Spray, Interior/Exterior, Flat Black	10 oz	14	Rustoleum	566700	each 12oz	\$9.36	Ounce	12	\$0.7800	Paxton/Patterson LLC
56132	Paint, Spray, Interior/Exterior, Gloss Black	10 oz	4	Rustoleum	566702	each 12oz	\$9.36	Ounce	12	\$0.7800	Paxton/Patterson LLC
56133	Paint, Spray, Interior/Exterior, Glossy White	10 oz	5	Rustoleum	566706	each 12oz	\$9.36	Ounce	12	\$0.7800	Paxton/Patterson LLC
56147	Plate, Cover, Plastic, 2" x 4-1/4"	Each	20	Lincoln	242524	each	\$0.78	Each	1	\$0.7800	Paxton/Patterson LLC

## Welding Supplies IFB 23-03-005 Opened March 14, 2023 at 3:00 PM Summary Contract Effective July 1, 2023 - June 30, 2024

Item #	Item Specification	Reference Package	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit of Measure	Unit	Unit Price	Vendor
56149	Plier, MIG, v-50	Each	10	Irwin	240080	each	\$21.77	Each	1	\$21.7700	Paxton/Patterson LLC
56150	Punch, Center, Automatic, Aluminum Handle, Hardened Tool Steel Point	Each	2	Starrett	122072	each	\$44.30	Each	1	\$44.3000	Paxton/Patterson LLC
56173	Sleeve, Protective, Flame Retardent, Durable, 1102 with 2-1/2" Elastic Cuff Both Ends	Pair	6	Steiner	241000	pair	\$20.77	Pair	1	\$20.7700	Paxton/Patterson LLC
56179	Spectacles, Safety, Clear	Each	40	Sellstrom	340272	each	\$1.43	Each	1	\$1.4300	Paxton/Patterson LLC
56208	Wheel, Chop Saw, General Purpose, Metal Cutting, 14" x 7/64" x 1"	Each	5	Norton	520099	each	\$9.14	Each	1	\$9.1400	Paxton/Patterson LLC
56216	Wheel, Grinding, General Purpose, Type 27, 7" x 1/4" x 5/8"-11	Each	2	Dewalt	160712	each	\$5.55	Each	1	\$5.5500	Paxton/Patterson LLC
56225	Brush, Wire, Wood Handle, 12"	Each	20	Weiler	422316	each	\$2.46	Each	1	\$2.4600	Paxton/Patterson LLC
56231	Glove, Welding, Premium Split Cowhide Cotton/Foam Lining, Double Reinforced Thumb	Pair	2	Steiner	243072	pair	\$14.37	Pair	1	\$14.3700	Paxton/Patterson LLC